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QUESTION 1

You used the IMMEDIATE option to shutdown your database instance. Consider the steps that will be performed later
when you open the database:

1.

SGA is allocated.

2.

Control file is read.

3.

Redo log files are read.

4,

Instance recovery is started.

5.

Background processes are started.
6.

Data files are checked for consistency.
7.

Server parameter file or the initialization parameter file is read. Which option has the correct order in which these steps
occur?

A.7,1,523,6,4

B.1,5,7, 2,3, 6; step 4 is not required
C.7,1,5, 2, 3, 6 step 4 is not required
D.1, 2, 3,5, 6, 4; step 7 is not required

Correct Answer: C

QUESTION 2

You receive complaints from users regarding the high waiting time for their transactions. On investigation, you find that
some users are not committing their transactions though they are not performing any activity for a long time. As a result,
SQL statements need to wait for rowlevel locks. Which two actions could you take to prevent this locking problem in the
future? (Choose two.)

A. Decrease the IDLE_TIME resource limit in the profile assigned to the blocking users.
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B. Use Database Resource Manager to automatically log out sessions that block others and are idle
C. Set the limit in the profile of blocking users to control the number of blocks to be accessed in a session.

D. Decrease the maximum number of interested transaction list (ITL) slots for the segments on which the blocking user
performs the transaction.

Correct Answer: AB

QUESTION 3

View the Exhibit and examine the privileges granted to the MGR_ROLE role.

The user SKD has been granted the CONNECT and RESOURCE roles only. The database administrator
(DBA) grants MGR_ROLE to the user SKD by executing the command:

SQL> GRANT MGR_ROLE TO SKD WITH ADMIN OPTION;

Which statement is true about the user SKD after he/she is granted this role? Exhibit:

General

Hame MGR_ROLE

Authentication None

Roles

Hole Admin Oplion
Mo items found

System Privileges

Syslem Privilege Admin Gplion

CREATERCLE f
CREATE USER M
SELECT ANY TABELE N

Object Privileges

Object Privilege Schema Object
Mo items found

A. The user SKD can grant only the MGR_ROLE role to other users, but not the privileges in it
B. The user SKD can revoke the MGR_ROLE only from the users for whom he/she is the grantor
C. The user SKD can grant the privileges in the MGR_ROLE role to other users but not with ADMIN OPTION

D. The user SKD can grant the privileges in the MGR_ROLE role to other users, but cannot revoke privileges from
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them

Correct Answer: A

QUESTION 4

You configured the Flash Recovery Area for your database. The database instance has been started in ARCHIVELOG
mode and the LOG_ARCHIVE_DEST_1 parameter is not set.

What will be the implications on the archiving and the location of archive redo log files?
A. Archiving will be disabled because the destination for the redo log files is missing
B. The database instance will shut down and the error details will be logged in the alert log file

C. Archiving will be enabled and the destination for the archived redo log file will be set to the Flash Recovery Area
implicitly

D. Archiving will be enabled and the location for the archive redo log file will be created in the default location
$ORACLE_HOME/log

Correct Answer: C

QUESTION 5

In your database, the current status of a PL/SQL procedure has become INVALID. Which action would fix the problem
and make the PL/SQL procedure usable?

A. Recompile the PL/SQL procedure.

B. Modify the procedure to run with a definer\\'s right.

C. Modify the procedure to run with an invoker\\'s right.

D. Grant the EXECUTE privilege on the PL/SQL procedure to PUBLIC.

Correct Answer: A
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